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Question Number : 1 Question Id : 5431074922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

In a certain code, DEAF is written as 3587 and FILE is written as
7465. How is IDEAL written in that code?

TF9T 9919 = H, DEAF = 3587 foWar FaT & 99T FILE 1 7465.
391 F1= ¥ IDEAL &1 T forar FJEEm 7




Options:
) 43568

43586
2.

635438
=

48336
4,

Question Number : 2 Question Id : 5431074923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

Complete it

January : November : : Sunday : ¢

S L gAY L [ T
Options:
Monday

1é"rna;——f

Tuesday
o HITETET

Friday

=z, S

Saturday
4T

Question Number : 3 Question Id : 5431074924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Complete the following :
Coal : Heat :: Wax: ?

T ¢ HEET 2 HE ;7




Options:
Energy

, T

Candle

Light

f=

SR
= T

Bee

. HYHF

Question Number : 4 Question Id : 5431074925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Find out the missing item from the following :

=1 # H o 9T R T HY

64155304 :: 7896 ?

Options:
6705
..

6905
z.

Question Number : 5 Question Id : 5431074926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question



Teacher, college and students these words are related in some way.
The relationship among the words can be best represented by one of

the following diagrams.

-

faretes, Toemom A femell ¥ o=g U oHY 9 hEl T | d@diEag

[

E | 29 9= # H==y % e =y gn 9807 99% 9 9o
o 9FaT B |

Options:

Question Number : 6 Question Id : 5431074927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Find the missing term in the following series :
T R H W 98 & O B
G 4.6 3.7, 2.6 2,12

Options:
1. 8

> 10

z 11

4 1%

Question Number : 7 Question Id : 5431074928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Select a figure from the four alternatives which would complete the

following pattern 'X' :

e A =7 foshedt § & [HeE UH (== & g9" & = oA XO®

><

N\

Options:

Question Number : 8 Question Id : 5431074929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

If 'water’ is called’ food', 'food’ is called ' 'tree, 'tree' is called 'sky,

sy’ is called ‘wall, on which of the following grows a fruit.

e R R T B M | P T £ M M= B 2 =l

HTEIST T S 97 e " 9 mEH e [AEEg =e 7
Options:
Water

. o



Food

Tree

g8
5

Question Number : 9 Question Id : 5431074930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Guestion

A man is facing towards west and turns through 45° clockwise, again
180° clockwise and then turns through 270° anticlockwise. In which
direction is he facing now ?

o Al B g5 9f9=H BT # AR 5, BT 98 591 31 Fem 7 450
99 S 8, 95 B 921 & R # €1 180°9H SR 5, A (BT 95
270°92] F AIL4T [Gom # 997 AW & | AT 9@ HE ¥ Tesm H

Options:
West
9 Oio=T

North-West
T - Jig=H

South
SieoT

South-West
4 ST TiTEH

Question Number : 10 Question Id : 5431074931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What type of teacher would you like to be ?
FAMT 57 UFT & FETIE I S
Options:




A teacher who teaches the whole curriculum.
1 HETIE ?h— '_’]_-E q%- T H=H 9;7[ 1:.- ol % [

A teacher who helps his students in learning.
o HEEE ST ATTH H BE & S5iEaT w5

Teacher who is a friend, philosopher and guide of his students.
FHEIF 7 BIET H A, S19iEE AR MEE B

A teacher who maintains good discipline.

4 FEIE F F=HI AGAEA T 5

Question Number : 11 Question Id : 5431074932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuesticon Label : Multiple Choice Question

In a certain code, SIKKIM is written as THLJJL. How is TRAINING
written in that code ?

T F1= | SIKKIM &1 THLJJL forar =1ar & | 397 F12 5 TRAINING
To forEr JEET

Options:

1 SQBEHOHOH

, UQBHOHOF

z UQBJOHOH

4 UQBJOHHO

Question Number : 12 Question Id : 5431074933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The most appropriate meaning of learning is
HEH & I9gT HAY B
Options:

Inculcation of knowledge

Modification of Behaviour
> ZgEe # 9iigaq




Personal adjustment
- =TT HHENEA

Acquisition of skills
4 THIITAT FH ATH

Question Number : 13 Question Id : 5431074934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

The purpose of text book is to provide ...... .

qTd TEIHT H 35T ... USTH AT BT B

Options:
A material to teachers to base teaching on

forerss T G 34T 5| 9T IEaEr e st A

A learning material bazed on a syllabus to a learner
foreqreft 1 e 99 OF ATENIS SATETH JHIEE

Reference material for a teacher
foTereR & o 9= 91H

A content for examinations
4 TET F o =

Question Number : 14 Question Id : 5431074935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

With the development of technology the role of teacher in future will

[ o, L
TR & [Gme § 9fas § foems & 9fbas 20
Options:

To provide information
AT /] TEET 1

1

To develop new text books
o AT TGEEH FH FEE B

To guide students
- EEiEET 1 AFEs™ HEAT

To use interest in teaching
4 TaTeq9T H HF W ITTART FHIAT




Question Number : 15 Question Id : 5431074936 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

To handle absentism in the class, the teacher should .....

BET = el # AU B @ (9w HE 9§ Jned

Options:
Use interesting teaching methods

, T fareror fafadr & gEer S

Try to analyze the reason behind absence and try to rectify the
problem

FAIURT B & HOl B [F9dTT I B TG T FHERTHA

Criticize students for not attending class

o BIET F FHEl H FIIRT 21 F foad A=A B

Punish them

4 T FEAT T

Question Number : 16 Question Id : 5431074937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Mandira tells her teacher that her friends copy from each other in all
the tests. The teacher is best advised to ........
HivadT AU 2 g4l B 6 39 HE 90e § UF g 1 A

Fed = | (979 T 999w 9es & TR 2 (F
Options:

Ignore Mandira's remarks.

gfeg<T &l TgoEl 97 == 9

1
Send her friends to counsellors.
5 9% I F HEEFET F 99 99 & |

Try to understand why Mandira said this.

TH AT H WESA B UG HY F AR 9 0E = S
3.



Talk to Mandira's parents.

4 A= F qTTaEERt § I FH |

Question Number : 17 Question Id : 5431074938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label - Multiple Choice Guestion

Which of the following is the biggest barrier to communication in a
c‘la%smam ?

= ﬁmﬂmﬂﬂ—ﬁqﬂ T -9 E

Options:

Lack of teaching aids
| TeTEqOT HEEET #FHH

Noise in the class

> FHeAT H 9NT

Outside disturbance
3 ABT H/ AT

Confusion on the part of the teacher
4 TR W AT H W

Question Number : 18 Question Id : 5431074939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A teacher who is not able to draw the attentmn of his/her smdents
U f97e/6 =1 A9H BET & HAMHYEG A8 6L Shal 36 ————

Options:
Re51gn from the Jcrb .
| AR | W9 § &A1 =nEd |

Evaluate his/her intelligence i
5 BAHI FE H HEAET HAAT FANEH |

Find fault in his /her %tudent%
?r'l-lﬂ b-HI Tl f"II"?iJ—H *'"-Ji-"l"li "1413: |

Evaluate his/her teaching method and 1 improve it.
, AT [SreAT fAerEt w gedih ik W gETe Tied |

Question Number : 19 Question Id : 5431074940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

The individual dlfferences of students in a classroom are .......
FeT § BET H Tgiaas =AFE—a

Options:
Detrimental as they lead to student ccrn_ﬂ_lcts
| BIFRIT & =i THH B &5 5Id & |

Disadvantageous as teachers need to control a diverse  class-

rooin.
z % Fif o789 # [SiggardeT Fer & Haradg
T BT & |

4

.J;mz

o

Inexpedient as they reduce the speed of the curriculum

’r_ransqction

==l £ FHiiF a5 ToTFH e TERT & TG H FH BT
T‘-_’ |

Advantageous as they lead teacher to explore a wider pool of
cognitive structure,

AHEEE B HEliE a5 e A 9eEEE {9 B =E
4 I 9ET W H OHEE el B

Question Number : 20 Question Id : 5431074941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple Choice Cuestion

For a visually impaired in inclusive class which of the following will
be more appropriate :

AT FHeAT & e Iw F fad e H " o#E AEE 29gE

Options:
Chart
= -

Vzdea chp
—HI""’H ’Jrffl q

Audio lecture
HT=aT =

Colour full picture
4 T ==

Question Number : 21 Question Id : 5431074942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question



Vittiya Saksharta Abhivan (VISAKA), a digital financial literacy
compaign aimed to activity engage yvouth and students of Higher
Education Institutions has been initiated by :

IEJ'C"II’—J HTel L] a:iT"#-ii«ilv-l lIf:IHI-hII' Lk I".'fl‘l"'ffl I"-{"*‘H’—J q:[Tfl-l""ll JZIT"-I‘—HTI
[HF I5e9d 3= 19161 &l % 91 AT BEl F Ji6Rd F4T =,
e S 30T 9 A T B

Options:
UGC
| FoSTMoH

NCTE
"':f =1ET

'-.']'l 2]

NCERT & UGC
, TH.HLE RS AR S

MHRD
. U .09 AT 2.

Question Number : 22 Question Id : 5431074943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

.. 18 going to set up the world's first information and technology (IT)
campus for differently abled persons 1Div}ra_ﬂﬂf&.]
i gET § HEAt (le=pel) & fora, fEeg w1 9| g9+ g
SENFTE (AE.F1.) 999 FEF eUiad B ST E B 7

Options:
Andhra Pradesh
| AFE Te9T

Kerala
& T

Telengana

= {Ii’ RIS

Tamilnadu
4 TS

Question Number : 23 Question Id : 5431074944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which educationist was p-::spularlj,r known as "'moochhali maa'?
= & # F-7 faefag CgesEn 570 F 919 F g =




Options:
M. Gar;dhi
, THo ATET

Maria montessori

5, HIT S

Nanabhai Bhatt
3 S

Gijubhai Badheka
, TS FEH

Question Number : 24 Question Id : 5431074945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Deen Dayal SPARSH programme for school children is to increase
their reach for the following :

& ST T TR [T & ST # I5d W a9 9@ # B

Options:
Philatily
1. -'_J!'-:: r._p'q:-'_p H:m

Ayurveda
-

2 "

Culture

, T

Tele communication
G R AT

Question Number : 25 Question Id : 5431074946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In recent vears Eklavya Model Residential School is being set up for

= % g9 H Umher Hisd AEEE GRS = BA B

Options:
Tribal children
: AMgaTd IaHt F o




Poor children
T IRl & A

2

Children with disabilities
5 FHEH =ATw & o

Minorities children
o . PR W
AEIETIE Iiahi & ol

4

Question Number : 26 Question Id : 5431074947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label - Multiple Choice Guestion

Which of the following institution has first time introduced QR code
in text books for helping students ? ]

e P I B o L I R B | R e e A = - 2 o | M AR L e 3
HITo IS =hl AP T=HAT AT ¢

Options:

NCERT

THo Hlo 2o Ao Flo

IIT Delhi
HAZo HAzo Tlo ol

CBSE .
Hio dlo THo Zo

Microsoft

4.

Question Number : 27 Question Id : 5431074948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The 10 present quota for economically weaker sections is related with :
HAE® =9 H FHAF T & 7 10 999 e §9499 B o
Options:

103 Constitutional Amendment Act

, 103" HAu+=H Hefras faf=s

103% Constitutional Amendment Bill
, 1037 HAEF J9aT fTEgE



124™ Constitutional Amendment Act

5 124 G Hamea  SATETE

124" Constitutional Amendment Bill
4 124*= HIqf9TF Hllaq =99+

Question Number : 28 Question Id : 5431074949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In India the first ever 'Happiness Curriculum' for school students was
started in 2018. This program was started at which place ?

AT H e wiEt & " 2018 3 IEdll 919 Gl TEEE’ 9F
AT T | 9% FEeH e T 99 AT R T o9 G
Options:

Himachal Pradesh

BaEd Hedl

Delhi

— s

Teeedl

Sikkim

Question Number : 29 Question Id : 5431074950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Guestion

CABE (Central Advisory Board of Education| has recommended free
eduction for Girls upto ..........

F=g f91T FemH G5 (Hlo Uo Hlo 2o) 7 Skl &1 HoT f97ET

- qF J@5fa # 5 |

Options:
School level

1 ERIGEIREE



Graduation level

o I<h 1

Post Graduate level

5 TIHEATAE (TR TSUe) 1Y

Doctoral level

4 5 ":{-:'-' T T

Question Number : 30 Question Id : 5431074951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

106* Indian Science Congress was held in :

10657 A¥ET o HiEE AFmT 52 O

Options:
New Delhi
1 I‘.r S . s ﬁ_
Jalandhar
ey H
z.
Lucknow
= HEER T "
Manipur
4 ]"jlzé;. ﬁ
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Question Number : 31 Question Id : 5431074952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

Heterocysts are present in some members of phylum :
r i T . o = =

TH WEeH & g HeHl H EEiiEE AEE R o

Options:
Cl}lc_rrophjfr:.eae

L g =
J e

1.

1§l’1 odophyceae
2, VISTHERHE

Cvanophyceas
3, SRRl

Bacillariophyceae
4 AHICTEIATRRZH

Question Number : 32 Question Id : 5431074953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which type of a__ﬂeup_luid:; is represented by 2n-2 ?

2n-2 T AT HH TRF & TAgwnes] g Ay A er 2
Options:
Moposc_;mic

=

| AEETEE

Nullisomic

o, TIRIHIHE

Trisomic

3 CRAHE

Tetrasomic

Th, My

4 BETHIE

Question Number : 33 Question Id : 5431074954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Reaction Centre of Photosystem I in green plants is
=1 19l H TRIWOnEl 1% GiashaTr e 5
Options:



; P680
5 P690

5 P700

P780

Question Number : 34 Question Id : 5431074955 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Which one is diploid in a moss plant ?

[ ¥ X - - = — - =K -
FEET (AE) T8 H HE (g0 26 B
Options:

Leaves
 HIeag

Gametes

F] e

2. >

Spore motherqc’ell
TT9] | RIS

Spore
=]

Question Number : 35 Question Id : 5431074956 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Flax fibres are obtained from the plants of :
Foied TIEEY & dreaf § uTE B B

Options:
Linum usitatissimum
, TR THICTHREA

Sesbania rostrata
o> AT I

Cocos nucifera
. | ey
o DI THI




Crotolaria juncea

’ SRIETA AT SR

Question Number : 36 Question Id : 5431074957 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Major food crops of the world belong to the family :
FeT F 9HE EFT FHe 929 H HE9T B o

Options:
Fabaceae

| hETE

Malvaceae

T

o HITHH

FPoaceas

a8

Brassicaceae

, T
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which plant can be used as a biofertilizer ?
— = =, r =, . = -
R 918 B Fg-39e & ©9 7 I R S B

Options:
Triticum aestivum

——

1 ' ~hH i-.l,;F :133:[

Azolla pinnata
O P Tl

EBatrachospermum sp.
5 SCTRIETHE T

Ficus religiosa
TFIEhe AT arET (9T
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



Cuestion Label : Multiple Choice Question
Kreb's cycle occurs in
S T T hE® HSY Hied B

ap

Options:
Ribosomes
1, VEREEH

Mitochondria
% [
I EAA RS I

22

Nucleus
5 S HEES

Cytoplasm
i IR 54
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Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Hypanthodium tvpe of inflorescence is found in species of :
BEUHTSTH UhiT o YUhA USiiodl H 9797 S 8o

Options:
Morus

-,

1

Ficus

, P (TER)

Albizzia

= 2
Y EEIS

o

Dalbergia

4, SEEnE

Question Number : 40 Question Id : 5431074961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which one iz a heteroceous fungus ?
HH-A1 U BEEad BaE 5 L
Options:

Puccinia




Phytopthora
o TIECITEIRT

Albugo

5 Uel

Ustilago
HEC AT

4.
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Organisms using CO_ as their sole source of carbon are termed as :
£ B £ ' n Xy o
T F FI HT & FT H CO,H TTART FHA dkd 1 = FHBT A0l 5

Options:
Autotrophs

= -

L £

Phototrophs
o ,-"i:'.-’lﬁ :I_LI :I

Photo-organotrophs

5 TPIC-HARHIEH

Chemotrophs
FF.IH _4-:;; %
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

:l“he bract in Wheat (cereals) is called :
E (AT H BT & # H/E AW B

Options:
Involucre
| HET

Spathe
o T4

Glumes

3. T2



Cupule
4. 9=
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
Repolarisation on neurons occurr due to :
ARG & qAYFT BT &
Options:

Influx of Na+
| Na+ & Ha: 99m® o

Inﬂu_x of K+
5> K+ & HAq: mGE H
Eftlux of Na+

Na+ % 959 995 o

Efflux of K+
4 H‘l' % 'E“ir{q --|3 ] ﬁ
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is a non-reducing sugar :
HH | Uk AF-EIET 9= R
Options:

Maltose

1.

Sucrose

Lactose

e
B R

Ribose
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Juestion Label : Multiple Choice Guestion
The hormone 'secretin’ stimulates secretion of ¢
=T CTafRe’” e 9= T I4d Heal 5

Options:
Pancreatic juice
| HEEE T

Intestinal juice
5 AT TH

Salivary juice
5 ©Y

Gastric juice

4, T TH
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Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Cuestion
Which hormone stimulates contraction of gall bladder :

HA-AT ZHEA e OIE H HEE F B

Options:
CCK-PZ
. 9.9 F . -1.7
ACTH
o B A 8109,

FSH

LH

" x|

4.
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Cuestion Label : Multiple Choice Question

Which one generates heart beat ?
TS F T=FHA FT HIA IoT HAAT B
Options:




Purkinje fibres
3 g

Cardiac branch of vagus nerve
IH TRl FH FEA ST

SA node
THolo A1

AV node

4 Todlo ArE
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Cuestion Label : Multiple Choice Question

Ornithine cycle is related to :
FHMHTT =k HI-4T B o
Options:

Respiration

15@%%

Excretion
> T H

Digestion
= ! ;a-

MNutrition
4 SRLaRY ﬁ
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Question Label : Multiple Choice Question
Locomotory structure in Amoeba is ;
Options:

Pseudopodia

1=3=Ttﬂ1?—ﬂ

Cilia
o HITETET



Flagella

Myonemes

4 FTENTH
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which one of the following animal has a nervous system but no brain :
=T § H e S # A OF & 9ig Ash 98 B

Options:
Frawn
1 S =Sl

Cockroach
el [8 [ s Ialad |

Lamprey

=,

3%

Hydra
BIEST
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uestion Label - Multiple Choice Cuestion

Metamerism is characteristic of :

=TS El (el 99T B

Options:
Platyhelminthes

1 r! : -rrér jgjll'

Nematoda

EICGET

Annelida

Arthropoda
4 HATATATE]
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Common name of i‘ksterlas 15:
”E‘I ITH I HEET AH n

Options:
sea pentagon

, HYT 9=

Brittle star

o WX QI

Startish

SIEAE: 1
= :

Basket star

4 CIR AR

Question Number : 53 Question Id : 5431074974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

The study of reptiles is known as
TOGT F AT FI AT A6GT B

Options:
Herpetology

| BT

Ornithology

Ichthvc:log:f
3 Bl FI_H 5|

Gateolopy

., . e S

i

4, SR
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ouestion Label : Multiple Choice Question

In Amphibians, respiration takes place by :
THAFA A 99AA BET B

Options:




Gills, lungs, gkiﬂ and buccal lining
1 Tries , Wiho, 9| HIT FHG 7 FEIEA

Gills and lungs
g S HIT T g ql

-

Skin a_g}d lungs

Gills, lungs and buccal lining
, T 2, WES AT F9E T g
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Juestion Label - Multiple CThoice Cuestion

Which of the following combination i3 known to form a clathrate
compound :

Thy Py

R T Ty == e = o B | = | S o 1 o 1 = M ol o L 1 £ 1

Options:
Ar and H,O at high pressure
3=9 99 9¥ Ar HIT HO

1
Ar and H O at low pressure
o TH T 9T Ar HIT HO

Ar and Xe at high pressure
5 399 9F 97 Ar HT Xe

Ar and Xe at low pressure
4 A TIF 97 Ar HAT Xe
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Question Label - Multiple Choice Guestion
Shape of XeO.F, is :
XeQF, &l HMRIT !
Options:
Tetrahedral
| TITHAEE B

Square Planar
5 THATAE &



See-Saw

5 AT E
Octahedral
, FCHTHR &
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Cuestion Label - Multiple Choice Question

Compounds of Fe* ions are difficult to obtain pure, because Fe* ions
are easily :

Fe* HFA! F 4111 9[& WISl 71 H(9e Bl 5 Fi% Fe** HEA
HAENT | Bl B

Options:
Reduced

Oxidized
o FTFHIER

Hydrolyzed

A [y

g wgRIC o

Volatilized
4, e R B
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Question Label : Multiple Choice Guestion
The colour of ultramarine is produced by the :
Options:
aluminum ions
| TEIHINEE AL @7

silicate ions
o Eeihe A= @

Polyhalide ions
;. dieETAREs AET g




Polysulfide ions
4 TEAHTEESE HET g
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Cuesticon Label : Multiple Choice Question

A group in the periodic table contains metals x, v and z respectively
in the 4=, 5™ and 6™ periods. X is an essential element for life while

compounds of Y and Z are extremely toxic. X,Y,Z are :
HE_HITUT & UF G5 H FHM 4,5 F HAX 6 F Hor@s! 7 FHAHM:
4,5 9 AT 69 FerEs] H HHIM: 91 X, Y HIX Z I0HT & | SE

% (0 X U AE9TE O 5S4 Y A Z AN AT e
T‘?', XY, Z%8

Options:
K. Bh, 5.

1.

Br, I, At
" :

V, Nb, Ta
3

Zn, Cd, Hg
4,
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Cuestion Label - Multiple Choice Question

B_H, is an example of :
B.H, 38EI B
Options:

Closo borane

FATAT FTET FT

Diborane

-

wd t—._\:_ " E]il

Nido Borane

T 1;-.'_; ":-H;\ " ohl

Arachno borane
HITEAT T T
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following possesses 3 centre-2-electron bond 7
=leag ¥ & $HiE-91 95T 3 F5 -2 ToEe 999 5
Options:

-

aluminium chloride
1 T ITTTH FAIES

calcium hydride

= -~
DT BIESIES

Beryllium hvdride

ditlddH Rizgglss

Beryllium chloride

N =
4 SRR B2 B2 B o | Bl 2
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Couesticon Label ;- Multiple Choice Question

Which of the following metals do not liberate hydrogen from dil. HCL ?

=i | i | 9 dil HOLH =g & e 78 & & 7

Options:
Mg
BT
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Cuestion Label : Multiple Choice Question

The complex [Crigly),| exhibits isomerism of the type (gly = glycine)
Siiew [Crigly),] FARAWHITH & THE (TNE = TEEE) B AE9
HIAl B

Options:

Geometrical only
FHaa FHAE

Optical only
Both geometrical and optical

SaSE A THEETE el

none of these

J Z949 H T2 AEI
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uestion Label - Multiple Choice Cuestion

Number of chiral centre(s) in Glucose i1s/are :
TEA H FTE = (S) W OHE B E

Options:

4
1.
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Question Label : Multiple Choice Question
Which of the following is a E isomer ?

oy =

T § H %9 UF & AREE 5 L
Options:



HC

o

H.C

=

H

O
Cl
Cl
H OH

H.C H
5]
H(Zk< Cl
I—ISC, H
Cl>:<DH
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Cuestion Label @ Multiple Choice Question

If the ratio of momentum and Kinetic energy of a particle is inversely
proportional to time, the motion of the particle is :

ST A faE O F q9 0F Afas S & A9 "9 &
=ERATAT BT A1 0T & Fel= eiengd BT

Options:
simple harmonic motion

, T AT T

Uniformely accelerated motion
, T Y ERCIEGII

Uniform motion

Uncertain motion

4 ASEET T
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ouestion Label : Multiple Choice Question

If two neutron stars collide in the Universe they give rise to :
FEiE 7 S oM anl & TEET | Menad %0 i sl B

Options:
Gravitational waves

| TEEE a6

Electromagnetic waves
o TIFIE T T

Both gravitational and electromagnetic waves
TeEd U 97 g T3
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Question Label : Multiple Choice Guestion

Two identical smooth spherical balls are kept in contact with each-
other on a smooth surface. A third identical ball strickes them
symmetrically and comes to rest ofter the impact. The coefficient of
restifution between the balls would be :

31 oot UF 56 =6 S U FHH A & < A UF =
qdE T7_0F gEY § "o T T E | ZHT TBI 1 T 8y Mo
T AT T o AT T T & 918 5UT 5T AET 2 | e

% =" g s feiEiaa Bem
Options:
)

3

B |

| =

4| s
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Cuestion Label - Multiple Choice Cuestion



A source of sound of frequency 1000 Hz is placed in a lake. What
would be the frequency of sound recorded by an cbserver on the
bank of the lake if the velocity of sound in water is 5 times its velocity
in air :

ST 1000 ool AR 91 9 & @9 F UF I & AT
ST Al SIS % foF Feor TEeE T o W S s @ ﬂﬂj‘;.
FRas BFT 3R 9T # 3t 1 39 5% 59T § 3 H 5 AT =T

Options:
200 Hz
; 200 B

500 Hz
500 BT

2000 Hz
5 2000 BEH

1000 Hz
1000 B&F
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Couesticon Label ;- Multiple Choice Question

Curl of a vector represents the tendency of the force to rotate about a
point. It was used for the first time by :

e f9vg 97 Ja1 1 gA H1 i ® Jie9r H Fl FHar S E
RSB H4H4H waHH I"I‘-*'Il':'ﬂ"’{"l = B = 7 e

Options:

Bohr

1.

MNewton

Maxwell

=5

3y TR

Laplace
4 QATTTH
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Cuestion Label : Multiple Choice Question

When many tiny water droplets coalesce to form a big drop :

S Ul # F5d H BIE-BIET 3 HUled BT U TSl dg & A0
FIAE Ar

Options:
Surface tension is increased
, T = g5 S B

Surface tension is decreased
, T T T S B

Energy is absorbed
L TN F HAIAT BT B

Energy i3 liberated.
4 39T H I B B
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Juestion Label - Multiple Choice Cuestion

Two laser beams of same wavelength and of intensities 1 and 4
respectively, are superposed. The ratio of minimum and maximum
mntensity in the resulting pattern would be

UF B a9 o2 S 1 997 4 & AT F A"ar 91l of aHy H
T OF AL 97 ALTT 641 4T 5 | T TRE J 99 Il AR
H TR 99 Af9HTGH JET B S a6

Options:
1

1. 9

B

|

|
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ouestion Label : Multiple Choice Question

If a battery produces the same power when separately connected to
two resistance R, and R, then, the internal resistance of the battery
would be :

FX UF Jo8 F AT-HGT_ A R, AT R, & Hid § e T 0F
21 [EFd 9ET Ore B BT A1 Sed B AR Ao g SR

Options:
, RR,
RR,
5 i
R, +R,
= A
R.R,
4 2
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Juestion Label - Multiple CThoice Cuestion

A ferro electric material is also :

-

UF @B AEEE (AT Zeteee) TeT MeTanaa 9T T Al BT 2

Options:
Super conducting
! Hid =Hcl=h

Ferromagnetic
GIEAE = EAE

Ferrimagnetic
Ui @E-TEHE

Piezo electric
, @A farrdE
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Cuestion Label : Multiple Choice Question

The Phenomenon of electromagnetism was discovered by .
MEIT FEHE TEAT HI A FEad @ Hl T2 o

Options:



E‘ara}day

Hils
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Cuestion Label - Multiple Choice Question

According to Bohr model of atom. the maximum charge on the nucleus
of a stable atom would be :
17 &1 JI7EmHEg 9717 % Hizol H THET By 9] & AlRE
" MET AfTHad H=G9T B
Options:

137

1

5 122

5 105

4 92
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Question Label - Multiple Choice Question

Beta rays () emitted by a radioactive material are related to the
following type of interaction :

FeRAT IfeardtaRaar 9 Te | 1T (B) B # Soge Aefatad
iz e B A B [

Options:
Electro magnetic
, T TS

Strong



rravitational

Wealk
y HHAT T
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Juestion Label - Multiple CThoice Cuestion

Textile fibers can be classified into categories :
TEATAGH T2 = TR0 Fha HE H BT B
Options:

2

e
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Cuestion Label : Multiple Choice Question

Wood and Silkk are ;
Options:

Manmade fibers
, T T/

Animal fibers
o ST ¥

Vegetative fibers

. Gl 2B :'"?:Tf

None of the three

, T
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Chanderi saries of which state are famous ?
TR Y199 W Hed] |Jel UieE 7
Options:

LLP

1 Fodo

Rajsthan

Madhyva-Pradesh
- HEAUDY
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Couesticon Label ;- Multiple Choice Question

Chikankari embroidery is famous of which city :
[ a0y [ n ¥l C -~ (= L = -
bRl I & :|a &HH T &l HHE 5 .
Options:

Lucknow

LGS
], IR

Kanpur
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Question Label : Multiple Choice Question
Disperse dyes are also known as :

s gl 0T B IG5 491 HaET AT B
Options:




Acidic dyes
i AT 79T

Acetate dyes

Alkali dyes
IR

Sulphur dyes
4 BT T
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Cuesticon Label : Multiple Choice Question

Block printing is :

ar = _q'_;-l:'_:l f, 5
Options:

Resistant Printing

1 A4 TIEh E‘.’":H..-:

Direct Printing

Discharge Printing

=S B

o

None of the three
i a4 H 9 B T8l
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Couesticon Label ;- Multiple Choice Question

How many types of cleaning and care are done in the houses :
97 H e 9 ® SEEE #HT JEE EAl B
Options:

1. =
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Cuesticon Label : Multiple Choice Question

Consumer protection bill came into existence in the year :
TOHET HYEY TEe R g9 H ST e
Options:

1986

1.

5 1957

= 1976

5 1966
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Juestion Label - Multiple Choice Cuestion

The Prevention of Food Adulteration Act came into existence in the
Vear :

A HEEe A 9T ATGEH E 99 AT H O

Options:

, 1955

5 1965

5 1945

1975
4.
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Cesticon Label ;- Multiple Choice Question

Boiling temperature in Pressure coolker is :
T9TT T H TIEH W aTTA AT B B o
Options:




; 1o0°C
51819
53117

Q
4 112°C
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Juestion Label : Multiple Choice Question

Colours may be classified into categories :

A/ FHLOT oo T H 5

Options:
1 4
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Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

A Nibble consists of —-- bits :

= - -, =
U MEe ..., e & T99L 5@ &
Options:

=

16

Question Number : 90 Question Id : 5431075011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



Question Label : Multiple Choice Question
The Three fundamental gates are :
T Afferd T FHEF H E o

Options:

; AND.NAND, XOR

5 OR , AND, NAND

= NOT,NOR,XOR

4 NOT , OR, AND

Question Number : 91 Question Id : 5431075012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The OR Gate performs a Boolean ------ operation :

e

OR & HE-AT Iferad HATIe= Hiadned Il

Options:
Addition

"L

Subtraction

. T

Multiplication

i

Division

MEEIEE]

Question Number : 92 Question Id : 5431075013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The operator '==' ig an example for ---operator.

; g - — S pim 0 T;_\'_ L
«=' HIGET e UBT & AT HI I[ET B ¢

Options:



Assignment

Increment

Relational

4 F;{'x" e I

Question Number : 93 Question Id : 5431075014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Operators have hierachy. It is used to know which operator :
HY e & ATHEA B ITER 98 AT & o AT S0 B S
T AT AT

Options:

is most important

HIH ARl B

is u1sed first

> TIH TRl UART fEAT Aem B

is faster

z U9 B

operates on large numbers
2] 9T 97 HH FHdl B

4.

Question Number : 94 Question Id : 5431075015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Question Label - Multiple Choice Guestion
C programs are converted into machine language with the help of :
C URTET FT HIOAT 9 ¥ THEET ¥es ¥ g 25ET ST B
Options:

Editor

1. ERIEE?




Compiler
o EF TGRS

Assembler

=3 'ﬂﬁ EIGE

Interpreter

-

-L_: — 5| -

Question Number : 95 Question Id : 5431075016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What will be the output of following program ?
#define square(x) xX*x

void main ()

{

int a ;

a= square(2+3)

printf("%d", a)

1

Options:
1 25

2 13
5 11

4, 10

Question Number : 96 Question Id : 5431075017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion



What will be the output of following program ?
FrfatEs IEE ® ATSedE #41 BRT L
Void main ()

{

int x=22,

if(x=10)

----- printf{"TRUE")

else

printf("FALSE")

}

Options:
TRUE

=

1. A&l

FALSE
o S

No output

b Y a

&l HANSCHT %l

Question Number : 97 Question Id : 5431075018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is a secondary memory device ?
MeTaEs § 9 F9-91 UF T TaE 2aEd 5 )
Options:

RAM

1,

Hard Disk
o ﬁl?.f "q -E..-J\"-’—t'.-'

ROM
= TH
Mouse

g4 TT3H



Question Number : 98 Question Id : 5431075019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Operating system is a :
Options:

Language
fe TN

Program

=2

ITHTH

Application Software
Ut HIFE =

System Software

4 & HTFe gy

Question Number : 99 Question Id : 5431075020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

USB stands for :

USB =T 2 ear B

Options:
Universal Serial Bus

: g THA HIigd 79

Universal Sequential Bus

ATHA HEE e =9

Unigue Serial Bus

5 THlE HIaw =9

Unigque Sequential Bus

, T AT TeTe 79

Question Number : 100 Question Id : 5431075021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



A wireless technology built in electronic gadgets used for exchanging
data over short distances is :

TEFCIEE 9RO B MET, FH g4 97 281 % ARME-UEH & oY
A 5 1 = i | B £ | R £ s [ 7 o

Options:
USB

.\-\-‘

Eluetooth

2. i ﬂ.xﬁfl-

LAN



